o BRELIE AR T

TR AT

TR EANZEIN T ;

ATEFR A AR
EIRKEFREANENF & ;
EREHNBKRERE;
ERERWARARSERIRE,



74 | BiEREHIE

KA B A5 I8 7T L RO e 1k L X R SR A A R B MG AT E A . Bk
SEIRRIE RN — R LU Dy ZE Ay ARSI B9 UL i (ISR 6-1 Fr 00 R 58 Jlas
4+ PRI & 2 B 3 ik 14 SR 2 s 0T LAY 0 IO T ROL L 11 7 9 B8 0 I T LADR 3 47 12 3z
HHIfE

F—T KEFRZERIE

—. RIERFE

TR 3P 1 i HEAS [R) A v T LA 4 A S [R) 28 B B30 3 1ok 442 3 B0 IO e R 8047 R ) L T
43R 5 ek AT T  J5 Tk A B A 5 T 12 S B A7 I AR ik o R B AL S TR0k 34 R Sk g
B Sk o R e

DL 3 6 7 0 7E 52 R I R SO DR B B e R B ROk Jﬂjﬁl\i_ﬁfﬁiﬂlﬂ’ﬁﬁ%,ﬁﬂ
16 R BB TR BT A A B MR IR B AR AR X R ik B o s SRk, s A e
1 XOA] 43Ry 7S A AR RN S S 3R E HE AT S8 Bl 55 g #R AR TU*EB%&%E’JW%: i Y
Srike

—_ i/ﬁﬁl] ||fﬁ

ek 13z B PR R T B D7 1 AN [ T A 22 5 o G 2RR T 3 i - a2 3 N Z2 B 7L 5B
BT A Fe v 2 e A AR U TR B A ARV 5 A SRR Jim TRk« 32 5 A B 76 5 B SRR B vy IR
{3 TR YT B e i A0

=. FEOR

TR TR A E B TTE —FE AR B L R . T oRevE A 28 i, TRBCR 9 TR B 1
R4 L AN S MR SR B, T DA SR A LT T R JLLRVN UL, KUV — LS
PEIRE— 2 JUAHTRNY 81 AJ Lk, /N JULJLAE W T R ECLE T /INECEE S 19 36 A7), A 45 41,

FERRFZ F AN JUJU RIS & BRI SR TR S kAR 2 R UL H R EE
V7 4% Folt 3fe 12 B3 AT, AN P 545 3 50 Rt e B0 0 B T RIS TR B T BN B R A 24 NIt
BOR BB ARIUILA R,

CRIVU O P A 4 ATl A B B S — AN BUR B B AN BUR R B SR Y
PIABOR AR, R T 7 1k is B s A 7, LA BUR — A8y s AL AR LU0 R AR n = =
06, — T 05 55 , i % T e BRI A o7 B Z 1) W) 2 4 B (B s ok - 40, B3 R L\ DY
T MR A A 7, BEARE P & A2, WS L 54, AN AR S S+,
HEEEE 7S ILam”,



EXNE KREEAFRE|TS

R6-1 FEKRAAORRK

— | ——01 | ——02 | —=03 | —PHO04 | —F 05 | —»x06 | —L07 | —/N08 | —JLO9
— | =—o02 | B 04| —=o06 | X 08| 3 10| M 12| ™ 14| K 16 | J 18
= | =Z—03 | =06 | ==09 | =12 | 30 15 | =18 | =k 21 | =24 | =ju2T
pg | pg—o4 | & 08 | =12 [ e 16 |1 20 | i 24|71 28| 1 32 |05 36
H | H— 05 | 10| =15 | --- 20 | === 25 P30 i35 | = 40 | = 45

N | AN—06 | ANT12 | AN=18 | AN 24 | NEH 30 | AN 36 | NE42 | S48 | ANTL 54

+ | E—07 | E=14 | E=21 | EmW28 | EH35 | EAN42 | BE49 | EAS6 | EIL63

JN ] A—08 N 16 JN=24 | NH32 | NFH 40 | NN 48 | /L 56 JN64 | NJLT2

Ju | JL—o09 | JL=18 | Ju=27 | JLPu36 | JLF 45 | Ju/s54 | JuE 63 | JuLANT72 | JujL 8l

PRI RIUIU” PR KA RN S B9 2 KLU 3k 36 4, sk 6-2 B .
£ 62 TEAAAAORE

- ——02

= =—03 | =706

m —o4 | & 08 | PI=12

# H— 05 | 10 | =15 | --- 20

7N 75— 06 N 12 N 18 | Nl 24 | XA 30

+ +—07 | £=14 | £=21 | k£wW28 | LH35 | LN42

AN JA—08 | N 16 JN= 24 J\1H 32 JNT 40 | AN 48 | Nk 56

i fL—09 | AT 18 | =27 | SLMH36 | FLE 45 | sS4 | Sk 63 | SN T2

B AU T B 2 A AL PR A
BT KRERZNEMAEIE

SE AT R BB 1 T vk . EATER B RIA IS T Y BUR 0V EE, S RO R OR L E
B EBERNRER, auE e, A BB ERA R,

B, 250 X4 1 0. 0025 X 4 FEB I BELA 45 48 1, 52 Pr b ag# A9 BUR 1,000, 100 5 &
F R 0. 001, R DL 3 8RR R 57 5 95 2 T Wf R A7 R 80 3 a2 B T Bl 3R

2 30 52 AV 3k 0 2 A A i A AR 6 RO v



76 | EEHEHE

—. B 5HM

(—) W=

BN S /N, BEBUR FRE R RN SR .

INEALFE Al NI VB, Al NSO FR AR A R R N A NBUR FR BB 4 2
EEM /N

U 2l R B R IOHT /N B o B3 B0 40 R Sy R B R Oy TE B0 A LA B O = E L
B, A (F)FR . 0 908(+3),90. 8(+2).,9.08(+1),

N/ H NS 5565 — A SO Z 88 B AR S8 A LA Z & LA
FH(—)525 .40 0.0289(—1).0.00289(—2),0. 0000289(—4)

FU Al /B NS 555 — A SO Z [ Z OIS 5 5 R R o &
BOi .40 0. 289 TS (0) %R,

(2) #fI

e BRI 5 67 38 5 2 LA B T BRI e B8 1 B0 Al . B 6 B3k 43 SR TE A A B 7 B RN
T g =%,

1. Efx#

— B U AR IE () LA,

2. fitr#

— Al /INE NS S BN — AN BT Z A LA 07 BR R B (—) LA

3. B

— AN NS B — A R Z NIRRT R R (0O 7

OIS 8 LR B —— X RO FR . o B I — 2 X R A R L AR YK ) A2
G 1) A

2P REBHIE

IO T RIS DR A 8

(1) 983.27( ) (2) 0.00285( )

(3) 0.47( ) (4) 6,358.083( )

(5) 45,800( ) (6) 0.7645( )

2. MR8 WAL 5 T A & B IE AR AL

(1) 96,877(IF =i ( ) (2) 325 i) ( )
(3) 34,278 (GE—1i1) ( ) (4) 6,874 (FAf1)( )
(5) 94CIEF A ( ) (6) 39,278(IE—1) ( )

—. R EAME
PR EN TR L, T BB A 28 ALk ME B LAY E ik,



EXRNE KREEAFE|T77

(=) ARNEAE
1. AX F ke IR A
O AE AL I 4% BB B S T B L8 T — s 1 2 2Okl e BB vk . e M Ry
Bl T B 1 B, N A SR B A7 85 . DA T — 2L 081 A v T A R R
(1) 7X8=56,
(2) 41X2=82,
T TR R e (LD Y AR O S T R R R A 8 D SR B 6 B (- 1D A T -
2 i,
(2) 1Y R 57 B B ) A28 - 2) I B B ny 7 8 (- D I Zd % 1, Bl C+H2) 47, A
AR AR E AL AR
M+N (6-1)
M+N—1 (6-2)
(DR M+N, 2 weE M+N—1,
TR 2 W A5 3 5 2 6-1, BB A g 50 5 5 FH =X 6-2 W I bh e e BRI 1 A i 5 e 4
Bl e B ) AL B RN R P E A A R
Sl (D B E LB 5, 8RB BB 8, TRE BB 7,5<<8<CT7 XA
LA R /N RV B LA /N T 3 B0 1 60 B8 o /N T 0k SR B i A R IR A 6 B /D
FIAE L B DL A BN G e FE S 6-1. B0 M+ N, (2) B i A B 8wl e B iy 1 o2 B
A TB AR 2,87>47>2 PG SRR R BT R BB B A BB KT R B e A A
RT3 B AL X T RUE KBME B0 @ At £ 6-2, B0 M+N—1,
S TAE T s FaR A FHEHE S W6 A5 L BDARE /N LA (M4 ND s B R in s 1
(M+N—1),
2. AR AR A L0 A
A W S 3 i B8 B DA 48 s RS B — Y T I 8 ST 5 o D & B o, ) DA A Ak 5 —
R U e R B (R LR B A B — R e B BN A FH (M IND JE o7 L 45 2k
SRR L BRI ZS L M+ N —1 & o, T MRS S /) 3 o BRI 50057 A s A 25 0 17,
T T 4 B A 2 B
436 X7=3,052
R 3<4<7.BE/NH M+N =(+3)+(+1)=+4,
215X42=9,030
B 9>2>4, R AL MEN—1 =(+3)+(+2)—1=+4,
999X 999=998,001
55— AH ) AR FLER S A 5 55 A AR [R] PR LA SR =07 s BRI 5 =0 02 8, e B
5w R B A = A0 432 9. IR AR /N T MAN g = (+3)+(+3)=+6,
100 X100=10,000
BB R E K M+N—1 1.



78 | EEHEHE

875X 16=14,000

FEU 1 57 500155 3 B30 7 87 50 TR) 00 b e 3fe 2507 1 2 /0y X A I B AL e /N M+ N
TEANL . MR DAL ZSHE 25 B B 6 505 3 B sl e B8 i rp — A DRI o 6 B8Ok WD 20 L D5 —
A BB B LR S SRR E SN L K MAN—1 &1,

(D) BEMMIMELE

[ 502 A0 R 52 A7 92 OB BB i 502 A58 AV 3 » i 7 i B A S TE B b Bk R R (R &5 A T
SOVE B S 25 U B AL RY L I LUK — 14 2y JE w8 1 e 9k 3l B0 e 50RY 7 s e LY 1 or
R 0 B BB 7 . Fl T e LA A 0 A 2 11 19 o B ah 3k by 3 R Oy B S A 67 1% 5 o7
P BRI AR M+ N, BB 3 500 47 8505 3 500 4 BOHm , i SRk +1 47, B 5Ok
R B TR B BN IR A 1 AL MRS D) AR N B RO R (3 BT ) K e
FRE B AR AL AN 1 LA, T i 21 .

. B k% Bk R

324 X89

Tl 3P B B 5 K05 e B AL B N, B) M+ N = (+3)+ (+2) =+5, B R+

PEBUR M +5 LA S,
+7 +6 45 +4 +3 42 W 0 —1 —2
3 2 4
W VAR B+ 4,
674 X0.0038
ol 7R BB 15 505 AR B 2 B L B M+N = (+3)+(—2)=+1
+4 +3 +2 v 0o —1 —2
6 7 4

2. =IAT R
A F 28 L0 AT 18 2 ALY 1 5 AL iz B I8 4 1 AL AR+ AL AR A B RS ALt o M+
N R, 5 fm A LB BRI E M R B R AL (BRI AS D 15 8 45 76 IR 28 8 47 19
DR A
123X 35=4,305
WK N +3 A1 BN +2 . M+N=(+3)+(+2)=+5, M 03 iy 0w hmnre
+5 7 k.
+6 +5 +4 +3 42 ¥ 0 —1 —2
0 4 3 0 5
8.64X62=535.68
BB R+ 1 AL REC R 2 A, M+ N =+ 3, e B B A B A7 B A+ 3 AL A
(48 iy 4 N+3 A,
+5 44 +3 +2 v o —1 —2 -3
5 3 5 6

oo



EXRNE KREEAFRE|T79

B=T Bk kX

1 Sk e 2 e FH 38 550 1 A A8 50 RN e B30 1% B 52 KR A 3R FR T 3R B0 AR R B CIEAE
BRI —N0D) — IR o 3k A e a0 7 AU g e IR B, BT AR Rk o, BB TR
B ik (& SE 830

—. — I EAE L SRiE

1. — &K FEmA

(A Sy 3fe v HA 22 e e, Jir D 3fe 72 118 T A4 DR v (e 50 Fn ot SR B0 v RZE A — A DR B —
A B AEF BT 5T DL — 1 B v

2. —IEH T EMEF LR

(D BEOE. BEAMM I — AR @Mk R BN AR — R A S —
I FH I 78 A0 44 8 L7 K B e Bdie M+ N R4 A i

(2) BHEIY . e K = 3 9l R Bt , M 3 B4 1) AR o2 36 ke, 4K ¥k ] 2 3 28 % T 25 1)
S Rk, FHE 6-1 FARWF,

B 6-1 —{I3kiEMEEIRF

3. AR IR

B — A, F AR P B R 4 BT RO R 1 B BR A e AR L B A 4 BRI AE
TELARAY A — A W SRS - AL AU I 4k 2 R B R B BB L LA S R SRR A
BUmAEA —#4,

4. A

Ae 5t Je o B b KB Ay S AR, A T 118 A LR 5 A, B B 28 2 BIE A 24 38 s i T A 08
Brvk  WFE 2o i 5 — R 2 2 R I 2 S S R M+ N—1 5@ 7 LR M+ N EALRIAT

324 X6= 1,944
P E L BORBON A — AR s BRT .



80 | EiEHKEHE

=] i S T = I < B It I T
PoREAEAY | = = W
BRMY 6324 | = = 2 4
= 1 2
1 8
LS 1 9 4 4

TR R = TR TR R TR B R R AL
237X0.4=94. 80 (B W Hi/NEO
FHE 2 A4S 2 AL B 8 R EN M+ N B A BI(43)+ (00 =+3, B E & 1A 4
I AR H] 43 7, BB BRI TR,

4 (N2 +5 +4 43 “+2 ¥ 0 —1
BOREATEA | 0 = +
- = 2 8
BEIFE 4X237 | — 1 2
0 8
VS 9 4 8

FEAL : F B SR EDNIER &S 1D 94. 80,

Z. BAHGkE

e AN B T KA 2 P 67 LA b A ROBU 1 Tl 1 Ay 22 o Bl 1k« 22 o 3T vk 1 BRI 7 Aot
] LA Ay [l R A A7 5 A7 ¥ R 2 =X 67 35 T A

. B

(1) FH 5 A RS 58 A 3%« 46 M+ N B 9 TR B0 1 B SR 07 - BRIC TR 4K .

(2) $2 05 8 LA e 5 — R R ol ofe BN 2 BRIC SR 2.

2. & F IR

VRRE € 2GRN DAV ER VST 5V SR VAN I VANE H 3 DATEELS FHfE, — B A B i Jn
— AL, A58 I I RIRE 1 75 s B BOR — A B AR IR 5 SR B 25— 3 B i e oo FHE .
T Bl T B 1) R = 0 B 5 TR BN B — 0 S A B A A IR T B S SE (TR SE W TR B
M E AL EO I 6-2 s .

3. mARA R

0l TR B A A B 5 TR A A TR I 2 R ) A A B U B T
LA B AL BN AE T AL AR A — A LU &AL e AU A0S . AL SR B 45 JL AL 4K [+]
Bl 3P BORH 3 o o7 FRAE Bl Sfe B0 AS A4 o, A BRI 7 W e BUAR RS 9 G — 4 |7, TEiz it



EXRNE KREEAFRE |8

v AR G b A B A LA BIAS B AR 5 - LA Y R L SRS R B T A LAY L 8 2 S
F) A7 22 i RN T TSR (U T8 2100 A B8 S N A R U R R LSS0 R8s LAY .

HEeH e

L. AR
FE5E i A5 P AR 2 (8 S A (S04 5 A7+ 28 b 9 BRI IE 0 25 5 5 o T X o 16 5 it I 7
A — AR 1 AT AR A 1 1 2 AT R A
67 X843=56,481
P 5 AR 52 7 M+ N=(+2) + (+3) = +5, # %k 67 I+5 it Afk.
BREREWT.

=T A +6 +5 +4 +3 +2 ¥ 0
PETEUN TR L AN
1B By N5 6
7X843 7N 2 8
7N 2 1
4 8
6843 2 4
1 8
BR 5 6 4 8 1

FENL LR NG FEA RS A IE B
0.689X7.24=4. 99({F B F i /NED
BN RIS K T B 689 MAE—RY A, BB RBRIT.,



82 | HiEHEHE

441 E— A= K= W EH LN
e N =T aNAN Ju
7N I\ 6 3
9 X724
75 J\ 1 8
75 VAN 3 6
7N 5 6
8§ X724 75 1 6
7N 3 2
4 2
6 X724 1 2
2 4
BER 4 9 8 8 36

BURE /N 36 M+ N E 07 (0)+ (D =-+1 B WA /NUR - IETA R 4. 99,
0.406X6.53=2.65 ({8 Bifi/NEO
0% XOE Lk R A B R AL 406 NZE— AL iz R AN .

(=T E— T A= AN AT AN
T N =LA Mmoo N
w0 3 6
6X 653 Moo 3 0
im0 1 8
2 4
41X 653 2 0
1 2
Vi3S 2 6 5 1 1 8

HE/NHARLX M+N EZ6i, (D4 0)=—+1, {8 /N T DLV R & 2. 65,



EXRNE KREEAFE| 83

EMNT Z=ZEIEE

—. TEAFRENHESER

23 SEATAETE A A5 2 b AR A DR R S e B PR AE L HRSR AR IR L RE Y A R
] 98D PR B AR o 3z B AT SR U S A R AR — AN 2 A 5 15 3T KA Sfe LA
HARMG BRSO« 1 T B Rh O vk A B o, ds R S L BT U B RETTIZ B B 7 i

— ﬁﬁﬂi%ﬂ’] &ﬁ/f
1. i& ,1— 2R }J
SeLIRECE S R LB A VB e R YR A T 2] 9k T BOK A7 . T LA
EEE:S) AP S Q0K I VAN Sy VATTRLE VST A U W= VAN ST IVANY- Bk IVAREELE 95 I H
FHERT., aRABEWAE 6-3 Frx,
e T
© o 0 0
UREEE _T(D
T T lo @
) 1 ®
m [ (6

B 63 Z=HEFFENEZE
O R — LT BT BB LA TE
@ RN AL T W A B4 L AH e
QRN G = AL TR WA B 45 L AH e
L] R e 5 Bl R B 7 B e
[2]Fnm T B0 5 58 — o wl e HOHH Tfe
(3R TINS5 = (7 B TR BRI
2. AR

(1) S5 Bl e o5 (AR e I, JHe v 55 — 25 BV I o7 e 05 i ol M0 i o AR o BRUAY 42
BN ZE 36 5 — R4 A A BN AE 7 B A7 — A4 1 67 30 K055 i 3R X 25 — o7 50k e, 7R
B+ L AR AR 2 5 A AR AR AR A L AR B A — A e B R K o
= RO AR R A L BUITAE 20 8 58 =4 L S BRI = 2 BUAY 2 R A7 — B AR R
I SRR AR b — AR A A A S T — 2 AR A A

(2) 5 A e B 5 iR B 1 (L B T A (37 B Ze ke 25 A i A B A BRI A
fi—H.

(3) 5 = e K 55 i o i (0 B I HL - 8 BRI 7 7 7 % =4 A2 BRI A A — R 4K



84 | HEHEHE

et

() ey i F v 13 3¢ 58 — o e B A T8 1 il T A 58 AR A 24 L X — A L
IR — LA AR+ L AR B RS

(5) 1 4 e v 18] 41 & 19 L 72 S SR BN i B b A % TR AR T R B — B . L )
T AR T R AR AR SR T — 4.

3. FhmsE b

18 3] e B AT TUA B AR TR B R DL ek A8 3 S, 32 R B n 32« 45 A (W) 97 25087 15 1) 3fe
TR 2 5 A JUAAE RV ECT I LR s RO b B — ok, 6 UG B — 4, DL faf b iz 55
SUR I =R T Y

4.

— AR E M BV E /N, M+ N B R M+N—1, ] DA & A =0 7, B
SR AIIN (M AN SRS i — (M+N—1)",

5. M

FeseIa - AT A IER A S
=, ZEWRENMEENILA B>

(1) ZAc R ILJU I P 8 Pk 2R i 07 3R 52 H pRmAS s

(2) JBUET B RO B R R BR R R B RS R ORI AL A LAY L 1 e
LN AN s VR = P2 AL RO VA A IO L S o ¢y | OO = B VAN S D/ 1 e e A 2 | B
G K

(3) TRB ok vt Fe K b vl A5 0, B BB Ak AR A . — MR B P A LA TR A R
) 47 85 JLAY .

(O B EWRBM LS. N T T8 8,8 2 S Fe sk nd, 76 e ik 5 v, w8
e R BE PR A SR R A 01,259 AT TUASAH [R50 1 RSOV 3fe 85, 33 R 3 A3 A ke
i T LR A %

368X 274=100,832
BEARMT,



ENRE

TREEARRE | 85

oy TR R R R TR R
0 6
2X368
o b
A 1 6
2 1
7 X368
55— v
e 5 6
1 2
4 X368
o5 = !
e 3 2

EE S

FE /N M+ N B4k 100,832,
6.97X2.84=19. 79 ({5 BB Wi {1 /N

ST
oy R R SR IR TR AR
1 2
2X697
S5 b
i 1 4
4 8
8 X697
55— R v
e 5 6
2 4
4 X697
3 6

5 =R

R

jat

1 9 7 9 1 8

RN A MA N GE AL BER 2 SE0R B WAL/ 28 = 00 22 DU 5 TN L R 24 58 02

19. 79,

26.04X3.04=79.16
S SR UR /(1



86 | BiEEZREHIRE

oy T
0 6
3X2,604
5 b
A 1 2
0 8
4X2,604
o= 2
A 1 6
B 7 9 1 6 1 6

FE R HMEN—LE6, B (F2) 4+ (+1)—1=+2 {5 , B3R A5 58 WG 7 /NE, ) 48 = 4
FPOAa A, IEWMAZ N 79. 16,

FHRT B X FEiE

B REMB SR

B Sk AR R TRk ) — P AL R0 ik AR B TR PR R VB R . B SR R R R AL
FHRI . 5 I3 B4 55 — A S FLJ 37 45 i 3 i) ] — (37 AR B J A e R M 15 £ 5 [ — o
WS HoAR e . M oy B 3 — LB B i A o B LARR O B Sk ek . B Sk R Tk B A U BT B
FEHOAHIRAL - OB BV 25 5 S48 . F B Sk 3 126 0 3 50 1y IO 5 32 0 P A — B, AN g
H &R ATi8 58 BT LB RE R 1

ZBARENEESREA X

1. E#

SR A 2 0 1% Bl SR B D\ B3 45k e e B — R4 N k5 2 FH 8T A A B 62 72 - B e BN
M-+N ¥ A%

2. iz H L IR }j

83 ) 3 i T ST I SREA B8 — (01 850 3 — 0 B0 28 R 6 580 4 3 14 1 3fe vy i 1 %o
e LA Bl 3fe B ) A 0 B, 98 J5 PR e B A0 B T Ar B B — 0 B0 A R A B e S L ROk
AR SR S I (R0 o oo oo LB BRI 2 — L . 1B B3 U PR 6-4 i

[LEE ekl

SERRELE

6-4 BAFEWEEINF




EXNE KREEAFE| 87

3. AR R

TS T, FH A B 55 T AN B 2 3 e R B30, LB B 1 A o 500 I 7 32 B e B AR A 1 A
A JURY  FR ) O BN AR A0 7R A LAY B A2 — A4 b > T S B T L AR 2 TR v e B
W 4 T BSOAS AN SR ke el Ay L AR o

R 7 EE UL A s B AR G SR AN RE AL, AR BRIC . 3fe 5 SR R AN HE

L A

VI3 € St € GUN=RA IS ird VS RS M iU B Y AN 0 =i B/ WAEK DA
A b DU 5 AR A R

748X 938=701,624
Fe NGB NIE B K B 748 INAER S — YA B B R R,

(T — T E= AN EH EN
PN B AL £ mw A
£ mw N 2 4
8938 £ m A 6 4
702
+t W 1 2
4X938 W 32
+ 3 6
t 2 1
7X938 +t 5 6
6 3
bR S 70 1 6 2 4

A Y

BT I E EIE

—. EREFRENB SRS

f RO ik PR FE e 12+ I J VA Hh Ay — Al . i e 3 12 2 41 T KSR 3fe I AR U S B R
o B A R R e R R, Tl T IX R O Wk Y ds B 5 3R B VA A L A8 O 8 L SR AR
FLX B T7 8N 5 RE i o Sy t S 5 3 S e A B 26 S AR T i P LS b 75 35 A A AT
—EERENEZETRREAE

1. E&

PUEYS PN WA VAEPE - N S Wt U PRt = DA S S S L SR M VRN N PR 8 S 1 O
M+ NPA L.



88 | MK EHE

2. iz FR A
i B SN YA CE R il R VAN T (VAN 2 IVATIRLD EENE 3 COREEE A EE S
TR R R QY SR QIR R VANY S VAN et (VATERID EEN AR
Y E 3§ EEE& I VATIRID BB T B g R B —A . s Y i 6-5 TN,
NASEREEED
B 65 BLFEWZEIRF
3. mARAE R

g Yz B S AR AR 5 LA 202 e g M FLBVEO R A 67 BOBE Il 76 1% B R SO R ) A7
P JURS b B (57 250 D0 A IO o A A A 1) 72— 4 b o 25 SRR o B 2 AR e 2K
I 45 0 3 KA A4 B B e A Oy LR AR - (0 4

R ) i O PR a8 SR A R e TR T AN R BE LI, HUREERIC AR 5E SR b

4. FAR

e 5¢ I+ FH I A0 A i 7 » A b B SFe AR RV IE A 3fe AR s 2 2 20 6205 T AR 9 R B
/N RE 3 2 BT A Y TE A 9 e B

ﬁ%tﬁéfﬁE’Jm,lﬂzﬁlﬁ/{&i%tlﬁiﬁ?i‘%i&’%ﬁ%%,@bﬁﬂﬁﬁxﬁ%ﬁﬁﬁ:t,ﬂﬂ%ﬂ@
AR it 7 AN ELH R

721 X432=311,472
$5 8 OB AL A K WO A 721 WAl 5 — A s BT

(T f— BT E= EN EH KN
T N R =LA +t = -
t = — 2
1X432 + = — 3
+t - — 4
+ = 4
2X 432 R - 6
t = 8
e | 4
7X 432 £t 2
2 8
b S 3 1 1 4 7 2




